int start()

{
/MBENENDF TV D _
if(MathMod(Calculate_Bars,2) == 0 && Even_Number == false) ¢— )7

{ —
Alert("Parameter must be Odd Number.");

Even_Number = true; <“— 1

return(0);

by

//ETEEEIDER
if(IndicatorCounted() == 0)

{
Calculated = 0;

b
else if(IndicatorCounted() > 0) < (2)

{
Calculated = 1;

by

switch(Calculated) €— (3)
{
// 171w oIBDstE
case O:

for(inti = Bars; i >= 0; i--) ¢— )7
{

Support_Point[i] = NULL; /],
Resistance_Point[i] = NULL;

[/HR—=bSAELZRIASA 2 DAE
int Center_Index = MathFloor(Calculate_Bars / 2) + i;

int Lowest_Index = iLowest(NULL,0,MODE_LOW,Calculate_Bars,i); 3y,
int Highest_Index = iHighest(NULL,0,MODE_HIGH,Calculate_Bars,i);

if(Center_Index == Lowest_Index)

{

Support_Point[Center_Index] = Low[Center_Index];

; «— T

if(Center_Index == Highest_Index)
{

Resistance_Point[Center_Index] = High[Center_Index];

by

s
i = Bars; ¢—

while(i >= 0) ¢— /7
{
[/BIR—KS1>
if(Support_Point[i] '= NULL)
{
Support[i] = Support_Point[i];

b 1
else if(Support_Point[i] == NULL && Support[i+1] > 0) :F'

{
Support[i] = Support[i+1];

¥

/LA RXSA >
if(Resistance_Point[i] '= NULL)
{
Resistance[i] = Resistance_Point[i];
b
else if(Resistance_Point[i] == NULL && Resistance[i+1] > 0)

{

Resistance[i] = Resistance[i+1];

¥

}|<— T

break;

/] 27« wvOBUEDE
case 1:

Support_Point[0] = NULL; -
Resistance_Point[0] = NULL; /

[[HIR—=KSA2ELZRIZRSA 2 DALE

“— 7

Center_Index = MathFloor(Calculate_Bars / 2);
Lowest_Index = iLowest(NULL,0,MODE_LOW,Calculate_Bars,0); ’l/

Highest_Index = iHighest(NULL,0,MODE_HIGH,Calculate_Bars,0);

if(Center_Index == Lowest_Index)

{

Support_Point[Center_Index] = Low[Center_Index];

b <
if(Center_Index == Highest_Index) L
{
Resistance_Point[Center_Index] = High[Center_Index];
b _
for(i = Calculate_Bars - 1; i >= 0; i--) €— A
{

[/HR—bZ1>
if(Support_Point[i] '= NULL)
{
Support[i] = Support_Point[i];

b <
else if(Support_Point[i] == NULL && Support[i+1] > 0) jj

{
Support[i] = Support[i+1];
b _
[[LZRXEFRXSA > .
if(Resistance_Point[i] '= NULL)

{

Resistance[i] = Resistance_Point[i];

b <
else if(Resistance_Point[i] == NULL && Resistance[i+1] > 0) :F

{

Resistance[i] = Resistance[i+1];

b

break;

return(0);




